
LORING TV STAND 
 
Congratulations on your latest Target purchase 
 
Now what? Don’t start sweating over this box of parts. This will be easy. We did the work for 
you. All you need to do is follow our simple instructions and you’ll be on your way to 
transforming your room in no time.  
Good luck – though we’re confident you won’t need it. 
 
Before you begin 
 
Check for damaged or missing parts. Call 1-800-440-0680 to order missing supplies. 
Use the carton as a working surface to prevent product damage during assembly. 
Gather all tools prior to assembly. 
Two person lift and two person assembly. 
 
DISCLAIMER: This video incorporates the instructions provided by the manufacturer with this product. 
Target will not be liable for any damage or injury based on your reliance on the content provided.  
 
Hardware 
The required hardware parts are: 
The 1/4’’x1-3/4’’ bolts are labeled as (H1) x 8. 
The 1/4’’x1-3/8’’ bolts are labeled as (H2) x 4. 
The 1/4"x1/2" bolts are labeled as (H3) x 12. 
The M4.2x1-3/8” screws are labeled as (H4) x 9. 
The M4.2x1/2” screws are labeled as (H5) x 4. 
The cam locks are labeled as (H6) x 4. 
The cam bolts are labeled as (H7) x 4. 
The M4.2x1-9/16’’ screws are labeled as (H8) x 4. 
The wrench is labeled as (H9) x 1. 
 
The parts for assembly are identified alphanumerically for ease. 
The top panel is labeled as A. 
The shelf is labeled as B. 
The bottom panel is labeled as C. 
The top divider is labeled as D. 
The bottom divider is labeled as E. 
The left side frame is labeled as F. 
The right side frame is labeled as G. 
The two rear cross supports are labeled as H. 
The cross support is labeled as I. 
The foot is labeled as J. 
 
HOW TO USE CAM LOCK SYSTEM  
  
The cam bolt is inserted and secured in the respective hole on the panel. 
The cam lock is inserted and secured in the hole present on the panel to be attached. 
The panels are brought close to each other at right angles such that the cam bolt can be 
inserted into the cam lock of the respective panels. 
With the help of a screwdriver, the cam lock is turned 180 degrees clockwise and tightened till 
the structure is perfectly secured.  



Make sure the cam bolts have been screwed down flush and not left partially inserted.  
 
STEP 1: 
Place H and I parallel to each other on a flat surface and attach F and G to the ends with eight 
H3 using H9. 
Do not fully tighten the bolts. 
 
STEP 2: 
Place A upside down on a flat surface and attach with the finished assembly from the previous 
step with four H2, six H4 and two H7. 
Fully tighten cam bolts, do not fully tighten bolts and screws. 
 
WARNING 
For use with televisions weighing 50 pounds (22.7 kg) or less. 
Use with heavier televisions may result in instability causing tip over resulting in death or serious 
injury. 
Use of anti-tip restraints may only reduce, but not eliminate, the risk of tip-over. 
 
STEP 3: 
On the underside of A, attach D with two H6. 
Fully tighten cam locks. 
 
STEP 4: 
Attach B to the middle rungs of G and F and bottom of D with four H1, two H8 and two H7. 
Fully tighten cam bolts, do not fully tighten bolts and screws. 
 
STEP 5: 
On the underside of B, attach E with two H6. 
Fully tighten cam locks. 
 
STEP 6: 
Attach C to the bottom rungs of G and F and the bottom of E with four H1 and two H8. 
Do not fully tighten bolts and screws 
PLEASE NOTE: Barrel Nuts are pre-installed. Barrel Nuts may need adjusting to properly align 
holes of Barrel Nuts with Bolts. 
 
STEP 7: 
Attach J and H to the finished assembly with four H3, three H4 and four H5. 
Apply firm pressure to align and fully tighten all bolts and screws. 
 
STEP 8: 
Level the TV stand accordingly. 
 
WARNING 
Please make sure that all objects are removed before moving the assembled unit. 
The unit must be team lifted, not dragged or pushed. 
Failure to do so could cause instability, product collapse, and / or serious injury. 
 
WEIGHT LIMITS 
Top panel: 50 lbs. 
Shelf: 25 lbs. 



Bottom panel: 25 lbs. 
This unit has been designed to support the maximum loads mentioned. 
Exceeding these limits could cause sagging, instability, product collapse, and / or serious injury. 
 
This unit has been designed to support flat TV.  
Maximum TV size is 55 inches. 
 
WARNING 
Death or serious injury may occur when children climb on audio and/or video equipment 
furniture. 
A remote control or toys placed on the furnishing may encourage a child to climb on the 
furnishing and as a result the furnishing may tip over on the child. 
 
WARNING 
Relocating audio and/or video equipment to furniture not specifically designed to support audio 
and/or video equipment may result in death or serious injury due to the furnishing collapsing or 
over turning onto a child. 
 
Your assembly is complete. Your TV stand is now ready for use. 
The red TARGET logo appears and fades from the screen. 


